

## ON TRIANGULAR PELL AND PELL-LUCAS NUMBERS

Ahmet İpek

**ABSTRACT.** In this paper, we define triangular Pell and triangular Pell-Lucas numbers. We carry with little differences an elegant result given in the literature on the sum of any two consecutive triangular numbers from triangular numbers to triangular Pell numbers and Pell-Lucas numbers. Also, we present some interesting identities satisfied by the triangular Pell and triangular Pell-Lucas numbers which are connected with Pell and Pell-Lucas numbers. Furthermore, we give some important properties of triangular Pell and triangular Pell-Lucas numbers.

### 1. Introduction

Binomial coefficients play an important role in many areas of mathematics. The binomial coefficients are defined by

$$\binom{n}{k} = \begin{cases} \frac{n!}{k!(n-k)!}; & n \geq k \\ 0; & n < k \end{cases}$$

for  $n$  and  $k$  non-negative integers. The theories of binomial coefficients in the classical algebra can be found in, e.g. [2], [4] and [10].

Triangular numbers are defined by  $T_n = \binom{n+1}{2}$ . There is an interesting relationship between triangular numbers and Pascal's triangle. The study of triangular numbers, their properties and their identities from the algebraic, analytic and geometric point of view has a long history (see, e.g., the monographs [1], [5], [8]).

---

2010 *Mathematics Subject Classification.* Primary 11B39; Secondary 11B65, 11B75.

*Key words and phrases.* Pell numbers, Pell-Lucas numbers, Binomial coefficients, factorials.

Communicated by Dusko Bogdanic.

The Fibonomial coefficients known as interesting generalizations of binomial coefficients are defined by the relation for  $n \geq m \geq 1$

$$\left[ \begin{matrix} n \\ m \end{matrix} \right]_F = \frac{F_1 F_2 \cdots F_n}{(F_1 F_2 \cdots F_{n-m})(F_1 F_2 \cdots F_m)}.$$

There has been a lot of interest in the Fibonomial coefficients and some profound results were established (for more details see [6], [7], [9], [11]).

The Pell numbers  $P_n$  are defined by  $P_0 = 0, P_1 = 1$  and, for  $n \geq 2$ ,

$$P_n = 2P_{n-1} + P_{n-2}.$$

The Pell-Lucas numbers  $Q_n$  are defined by the same recurrence, with the initial conditions  $Q_0 = Q_1 = 1$ . The first six Pell numbers are 0, 1, 2, 5, 12, 29, and 70; and the first six Pell-Lucas numbers are 1, 1, 3, 7, 17, 41, and 99. The solutions of Pell's equation  $x^2 - 2y^2 = (-1)^n$  are  $(Q_n, P_n)$ . These numbers have many interesting number-theoretic and combinatorial properties. For a full introduction to Pell and Pell-Lucas numbers, see [5].

The focus of this paper is the study of triangular Pell and triangular Pell-Lucas numbers. We first define the Pellnomial and Pell-Lucanomial coefficients and then we define triangular Pell and triangular Pell-Lucas numbers according to these coefficients. We present some interesting identities satisfied by the triangular Pell and triangular Pell-Lucas numbers which are connected with Pell and Pell-Lucas numbers. Furthermore, we give some important properties of triangular Pell and triangular Pell-Lucas numbers.

## 2. Main results

In this section, we will address triangular Pell and triangular Pell-Lucas numbers from a number theory science perspective, where a special emphasis is put on integer sequences issues.

We define the Pellnomial and Pell-Lucanomial coefficients for  $1 \leq k \leq m$  by

$$(2.1) \quad \binom{m}{k}_P = \frac{P_m P_{m-1} \cdots P_{m-k+1}}{P_1 \cdots P_k}$$

and

$$(2.2) \quad \binom{m}{k}_Q = \frac{Q_m Q_{m-1} \cdots Q_{m-k+1}}{Q_1 \cdots Q_k},$$

respectively.

The Pell and Pell-Lucas analogs of  $n!$  are defined by  $P_m! = \prod_{k=1}^m P_k$  and  $Q_m! = \prod_{k=1}^m Q_k$ , respectively. Now, we can give the Pell analog in (2.1) and Pell-Lucas analog in (2.2) of the binomial coefficients by the following relations, respectively, for  $n \geq m \geq 1$

$$\binom{m}{k}_P = \frac{P_m!}{P_{m-k}! P_k!}$$

and

$$\binom{m}{k}_Q = \frac{Q_m!}{Q_{m-k}!Q_k!}$$

with

$$\binom{m}{0}_P = \binom{m}{m}_P = \binom{m}{0}_Q = \binom{m}{m}_Q = 1$$

where  $P_n$  and  $Q_n$  are the  $n$ th Pell and Pell-Lucas numbers, respectively.

For the sake of simplicity, we will denote the  $n$ th Pell and Pell-Lucas numbers by  $[n]$  and  $\langle n \rangle$ , respectively. The Pell numbers are defined by  $[0] = 0, [1] = 1$  and, for  $n \geq 2$ ,

$$(2.3) \quad [n] = 2[n - 1] + [n - 2].$$

For example, we have

$$[2] = 2, \quad [3] = 5, \quad [4] = 12, \quad [5] = 29.$$

The Pell-Lucas numbers are defined by

$$\langle n \rangle = 2\langle n - 1 \rangle + \langle n - 2 \rangle, \quad n \geq 2$$

together with the initial conditions  $\langle 0 \rangle = \langle 1 \rangle = 1$ . Here is a list of the Pell-Lucas numbers

$$\langle 2 \rangle = 3, \quad \langle 3 \rangle = 7, \quad \langle 4 \rangle = 17, \quad \langle 5 \rangle = 41.$$

We are now in a position to define corresponding triangular Pell and triangular Pell-Lucas numbers. For the Pellnomial and Pell-Lucasnomial coefficients, it is natural to define the triangular Pell and triangular Pell-Lucas numbers by

$$(2.4) \quad T_{[n]} = \binom{n+1}{2}_P = \frac{P_{n+1}!}{P_{n-1}!P_2!} = \frac{P_{n+1}P_n}{P_2!} = \frac{[n+1][n]}{2}, \quad n \geq 1$$

and

$$T_{\langle n \rangle} = \binom{n+1}{2}_Q = \frac{Q_{n+1}!}{Q_{n-1}!Q_2!} = \frac{Q_{n+1}Q_n}{Q_2!} = \frac{\langle n+1 \rangle \langle n \rangle}{6}, \quad n \geq 1,$$

respectively.

It is clear from the Definition 2.3 and 2.4 that  $T_{[n]} = \binom{n+1}{2}_P$  is an integer for all  $n \geq 2$ .

In [5], it is given an elegant result on the sum of any two consecutive triangular numbers:

$$T_n + T_{n-1} = n^2.$$

In the following first two propositions, we carry with little differences the above result from triangular numbers to triangular Pell numbers and Pell-Lucas numbers.

**PROPOSITION 2.1.** *The difference of any two consecutive triangular Pell numbers is a square:*

$$(2.5) \quad T_{[n]} - T_{[n-1]} = [n]^2 \quad n \geq 3.$$

PROOF. For  $n \geq 3$ , by formula (2.4) and definition (2.3), we get

$$\begin{aligned} T_{[n]} - T_{[n-1]} &= \binom{n+1}{2}_P - \binom{n}{2}_P \\ &= \frac{[n+1][n]}{2} - \frac{[n][n-1]}{2} \\ &= \frac{[n]([n+1] - [n-1])}{2} \\ &= [n]^2. \end{aligned}$$

This completes the proof of Proposition 2.1.  $\square$

PROPOSITION 2.2. *For the difference of any two consecutive triangular Pell-Lucas numbers, we have*

$$(2.6) \quad T_{\langle n \rangle} - T_{\langle n-1 \rangle} = \frac{\langle n \rangle^2}{3} \quad n \geq 1.$$

PROOF. The proof is similar to the proof of Proposition 2.1 since

$$\langle n \rangle = 2\langle n-1 \rangle + \langle n-2 \rangle.$$

$\square$

Next, we present some fundamental identities satisfied by the triangular Pell and triangular Pell-Lucas numbers.

PROPOSITION 2.3. *For the triangular Pell and Pell-Lucas numbers, we have*

$$36T_{\langle n \rangle}^2 + 16T_{[n]}^2 = [2n+1]^2.$$

PROOF. It is easily seen from the definition triangular Pell and Pell-Lucas numbers that

$$\begin{aligned} 36T_{\langle n \rangle}^2 + 16T_{[n]}^2 &= (6T_{\langle n \rangle})^2 + (4T_{[n]})^2 \\ &= \left(6 \frac{\langle n+1 \rangle \langle n \rangle}{6}\right)^2 + \left(4 \frac{[n+1][n]}{2}\right)^2 \\ (2.7) \quad &= (\langle n+1 \rangle \langle n \rangle)^2 + (2[n+1][n])^2. \end{aligned}$$

Combining formula  $(\langle n+1 \rangle \langle n \rangle)^2 + (2[n+1][n])^2 = [2n+1]^2$  and (2.7) we get the desired result.  $\square$

PROPOSITION 2.4. *For the triangular Pell and Pell-Lucas numbers, we have*

$$T_{\langle n \rangle} + T_{[n-1]} - T_{[n]} - T_{\langle n-1 \rangle} = \frac{1}{3} \left( (-1)^n - [n]^2 \right).$$

PROOF. We have from (2.5) and (2.6)

$$T_{\langle n \rangle} - T_{\langle n-1 \rangle} - T_{[n]} + T_{[n-1]} = \frac{\langle n \rangle^2}{3} - [n]^2.$$

Therefore, this relation can be rewritten as

$$(2.8) \quad T_{\langle n \rangle} - T_{\langle n-1 \rangle} - T_{[n]} + T_{[n-1]} = \frac{1}{3} \left( \langle n \rangle^2 - 2[n]^2 - [n]^2 \right).$$

Since every solution of  $x^2 - 2y^2 = (-1)^n$  is  $(\langle n \rangle, [n])$  and  $(1, 1)$  is its fundamental solution, it follows that

$$(2.9) \quad \langle n \rangle^2 - 2[n]^2 = (-1)^n.$$

It follows from (2.8) and (2.9) that

$$T_{\langle n \rangle} - T_{\langle n-1 \rangle} - T_{[n]} + T_{[n-1]} = \frac{1}{3} \left( (-1)^n - [n]^2 \right)$$

thus we get the desired result. □

The following theorem establishes a criterion for two consecutive triangular numbers to have the same parity (oddness or evenness).

**THEOREM 2.1** ([5, Theorem 5.1]). *The triangular numbers  $t_n$  and  $t_{n+1}$  have the same parity if and only if  $n$  is odd.*

We now establish a criterion for two consecutive triangular Pell numbers to have the same parity by the following theorems.

**THEOREM 2.2.** *The triangular Pell numbers  $T_{[n]}$  and  $T_{[n+1]}$  have the same parity if and only if  $n$  is odd.*

**PROOF.** Suppose  $T_{[n]} \equiv T_{[n+1]} \pmod{2}$ . Therefore, by Proposition 2.1, we have that  $T_{[n+1]} - T_{[n]} = [n+1]^2$  is even. So  $[n+1]$  is even. Thus,  $n+1$  is even. Hence  $n$  is odd.

Conversely, let  $n$  be odd. Then,  $n+1$  is even. Moreover, we have that  $[n+1]$  and  $[n+1]^2$  are even. By Proposition 2.1, we get  $T_{[n+1]} - T_{[n]}$  is even. Consequently, we get the desired result:  $T_{[n]} \equiv T_{[n+1]} \pmod{2}$ . Therefore, the proof is completed. □

**THEOREM 2.3.** *For any positive integer  $n \geq 3$ , we have*

$$T_{[n+1]} \equiv T_{[n-1]} + 1 \pmod{2}.$$

**PROOF.** From (2.5), we get for  $n \geq 3$

$$(2.10) \quad T_{[n+1]} - T_{[n]} = [n+1]^2$$

and

$$(2.11) \quad T_{[n]} - T_{[n-1]} = [n]^2.$$

The fact that

$$T_{[n+1]} - T_{[n-1]} = [n+1]^2 + [n]^2$$

directly follows from (2.10) and (2.11). Since  $[n+1]^2 + [n]^2 = [2n+1]$  and  $[2n+1]$  is odd, we thus get

$$T_{[n+1]} \equiv T_{[n-1]} + 1 \pmod{2}$$

which concludes the proof. □

### Acknowledgments

The author would like to thank the editor and anonymous reviewers for their valuable comments and remarks which helped them to improve the earlier versions of this paper significantly.

### References

1. A. Behera and G. K. Panda, On the square roots of triangular numbers. *Fibonacci Quarterly*, **37**(1999), 98-105.
2. E. E. Enochs, Binomial coefficients. *Boletín de la Asociación Matemática Venezolana*, **11**(1)(2004), 17-28.
3. Jr Hoggatt and E. Verner, Fibonacci numbers and generalized binomial coefficients. *Fibonacci Quarterly*, **5** (1967), 383-400.
4. A. Granville, Arithmetic properties of binomial coefficients, I: Binomial coefficients modulo prime powers. *Organic mathematics*, Proceedings of the workshop, American Mathematical Society, Simon Fraser University, Burnaby, Canada, December 12-14, 1997.
5. T. Koshy, *Pell and Pell-Lucas numbers with applications*, Vol. 431. New York: Springer, 2014.
6. E. Krot, An introduction to finite fibonomial calculus. *Open Mathematics* **2**(5) (2004), 754-766.
7. E. Kılıç, Y. T. Ulutaş, and N. Ömür, Sums of products of the terms of the generalized Lucas sequence  $Vkn$ . *Hacettepe Journal of Mathematics and Statistics*, **40**(2) (2011), 147-161.
8. B. K. Oh and Z. W. Sun, Mixed sums of squares and triangular numbers (III). *Journal of Number Theory*, **129**(4) (2009), 964-969.
9. J. Seibert and P. Trojovský, On some identities for the Fibonomial coefficients. *Mathematica Slovaca*, **55**(1) (2005), 9-19.
10. M. Z. Spivey, *The art of proving binomial identities*, CRC Press, 2019.
11. P. Trojovský, On some identities for the Fibonomial coefficients via generating function, *Discrete Applied Mathematics*, **155**(15) (2007), 2017-2024.

Received by editors 5.3.2022; Revised version 28.8.2022; Available online 26.9.2022.

AHMET İPEK, DEPARTMENT OF MATHEMATICS, FACULTY OF KAMIL ÖZDAĞ SCIENCE, UNIVERSITY OF KARAMANOĞLU MEHMETBEY, KARAMAN, TURKEY  
*Email address:* [dr.ahmetipek@gmail.com](mailto:dr.ahmetipek@gmail.com) or [ahmetipek@kmu.edu.tr](mailto:ahmetipek@kmu.edu.tr)